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Later 2R restated - 992K N T

OVERVIEW

The &1 first quotes »aX as saying (regarding the case where his master wrote 3
T2 7P °001) that 0°021 73 XY mIpw TIna. Then X217 questions this statement. 2N
retracts his original statement and says A%y 71p X7 0°021 3P RO TIA. Our MHOIN
will explain why »2X changed his position.
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The explanation of the X3 is that »2X did not retract his original statement (that
0°021 IR A%V MIPY TI0N) on account of s'N39 question -
= N91257 19999 XY 9204 NI9 1’9 2PWN XY »aNT
For »aR does not consider s'827 question to be a refutation to s™aX original
statement since X maintains we cannot divide a statement®; to say we accept it
only partially. We either accept the statement or reject it in its entirety.

mooIn will now explain why we cannot say that »2X retracted his original statement on account
of s'%27 question:
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for »2X, in retracting his original statement and offering a different statement, is

not answering at all s'R39 objection. According to X2 either statement of »2x is equally
invalid. Why then did »2X retract his original statement?

mooINn explains; it has nothing to do with 837 —
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Rather it appeared to 2X logically that it is preferable to say that the 72V
acquires neither himself nor the possessions; as opposed that he acquires them
both. The logic is that the onus of proof is on the bearer of the note’. It is the 5v2
7uwn, in this case the 72y, who desires to change the status quo. Therefore he must prove his
position beyond any doubt. According to 2y, since we do not say XM2°7 12°379, we either accept
his claim completely or reject it completely. If the 72y cannot validate his entire position, the
status quo remains. The 72¥ remains an 72¥ and the 0°021 remain in the previous estate.

' The term w0 usualy indicates that mooIn is negating a simpler and more obvious explantion. nM2oIN states here
the explantion which he is negating, namely that »ax retracted on account of s'%27 challenge.
* This is apparent from either of s"*ax statements.
? Literally: “The hand of the 7w holder is on the bottom’.
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SUMMARY
According to »a& we do not say 8712°7 11°399. Therefore, since the ¥ wwn %y 7
nnnnna, we would rather say %Y 71p X? 0°021 1P X?W 7107 than the reverse.

THINKING IT OVER
1. Why did »2x originally maintain that 0°021 73p W¥y mpw Tinn?*

2. Why was it necessary for X2 to repeat his question on *2aX (that X?X 121 Xn>wa
"a1); it seems obvious that the initial question remains?!’

* See n"nx # 204.
5 See 7171 N,
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